Spiel 1 Spiel2  Gesamt

Spiel 137 15:00/K1 STRONDL Karlheinz 47 + 53 = 100(O
K2 ACHLEITNER Christian 56 + 49 = 105|0
Spiel 139 15:19|K 3 SEIBERT Glinter 58 + 60 = 118|#
K4 OFENBERGER Leo 63 + 54 = 117|0
Spiel 141 15:35|K5 HINTERSTEINER Hubert | 64 + 57 = 121[# 0
K1 STRONDL Karlheinz 47 + 52 = 99
Spiel 143 15:52|K 2 ACHLEITNER Christian 50 + 59 = 109|0
K3 SEIBERT Ginter 57 + 58 = 115|0 #0
Spiel 145 16:10|K4 OFENBERGER Leo 58 + 52 = 110{0 O
K5 HINTERSTEINER Hubert | 50 + 49 = 99
Spiel 147 16:27|K 1 STRONDL Karlheinz 4 + 52 = 96
K3 SEIBERT Ginter 62 + 61 = 123|0##0#0
Spiel 149 16:43|K2 ACHLEITNER Christian 57 + 61 = 1180 O #
K4 OFENBERGER Leo 46 + 53 = 99
Spiel 151 17:04|K 3 SEIBERT Glinter 49 + 58 = 107
K5 HINTERSTEINER Hubert | 60 + 56 = 116[# O
Spiel 153 17:22|K4 OFENBERGER Leo 48 + 50 = 98
K1 STRONDL Karlheinz 52 4+ 48 = 100
Spiel 155 17:39|K 5 HINTERSTEINER Hubert | 52 + 59 = 111 |#
K2 ACHLEITNER Christian 56 + 57 = 113|0 0




